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EXAMINATION FOR INSURANCE SURVEYORS
ENGINEERING INSURANCE
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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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1. "EAR policy virtually provide Comprehensive Cover for the entire project of %each

installation/erection/testing/commissioning of machinery and equipments" Analyse
this sentence and Comment on : (any three) of the followings :

a) Scope of cover

b) Exclusions

¢) Period of insurance

d) SumInsured.
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Write short notes on any three of the following :- 4 each
a)  Adjustment of Sum Insured I
b) Operational and Commissioning tests
¢) Maintenance Cover
d) Extension of period of Insurance.
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With reference to Consequential loss policy, Discuss : (any three) 4 each
a) Timeexcess '

b) Standing Charges

¢) Standard turnover vis-a-vis Annual turnover

d) Special exclusions.
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Relate the following terms with the Machinery Breakdown Insurance (any 6 each
two) ; ‘

a) Loss producing events

b) Duties of Insured following an Accident

¢) Obligations of the Insured.
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Under C P M Insurance Policy : (Describe any two)

a) Name any ten exclusions other than war and nuclear radiation/radioactive
contamination.

b) State the supplementary covers available. -

¢) What are the recent trends and developments you noticed in C P M
insurance cover. '
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Answer any two of the following :

a) What are the different methods of arranging Reinsurance in Engineering
Department? -

b) Explain the sequence of cessions under the Engineering Re-insurance
Programme.

c) What is the difference between facultative and treaty re-insurance ?
Hlustrate the advantages and disadvantages of both methods.
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Describe the basis of indemnification under D O S Insurance Policy. What
technical control methods you would employ in underwriting D O S Insurance?
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Summarise the information required by the insurer and re-insurer in the proposal

- for AL O PRisk.
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Do you believe that E E I Policy offers Cover on an 'ALL-RISK' basis ?
Discuss the Scope of Cover vis-a-vis. Basis of indemnification.
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Do you feel that driving from Rule-Based underwriting to Risk-Based
underwriting has impacted the engineering port folio ? Examine this issue in the
light of the fact that process of liberalisation necessitated de-tariffing of this
portfolio.
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